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CALCULATOR OK

1. Work out these calculations ...

2.5× 120 200% of 120 1× 120 50% of 120 1.5× 120

... and add them to this table.

multiply calculation answer percent of calculation answer

0.5× 120 = 60 = 60

= 120 100% of 120 = 120

= 180 150% of 120 = 180

2× 120 = 240 = 240

= 300 250% of 120 = 300

2. Work out 420% of 180

3. Work out 365% of 90

4. Work out 153% of 150

5. Work out 289% of 4300

6. Work out 43% of 1500

7. Work out 385% of 80

Answers 2) 756 3) 328.5 4) 229.5 5) 12 427 6)645 7) 308
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